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In the given figure, points H, | and | are the mid-points of sides FG, GE and EF of AEFG. Which of the following are

1. true?
a) AJFH = AE]JI
b) AJFH = AHI)
c) AEJl = AIHG
d) AEJl = AH)I
e) AEJl = AHYJ
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(i) {d,a} (ii) {a,b,c,e} (iii) {d,c} (iv) {d,e,a} (v) {d,b}

2. In the given figure, which of the following is true?

F P

G H Q R

(i) AFGH = AQRP (ii) AFGH = ARPQ (iii) AFGH = APQR (iv) AFGH = ARQP (v) AGHF = APQR

3. In the given figure, ABCD = AUTS. Which of the following are true?
a) LB = /LS
b) £LD = £S
C) LC= LT
d) CD = UT
e) CD =TS
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(i) {d,c} (i) {a,de} (iii) {a,b} (iv) {b,ce} (v) {ab,c}



4. In the given figure, AEFG = AUTS. Which of the following are true?

a) LT =71°
b) LU = 48°
c) LT =61°
d) £U = 61°
e) LS=171°
f) £LS = 48°
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(i) {d,c} (i) {b,c,e} (i) {a,b} (iv) {d,b,c} (v) {fae}

5. In the given figure, ADEF = APQR. Which of the following are true?

a) QR =12cm
b) QR =16 cm
c) RP=13cm
d) RP=12cm
e) PQ=12cm
f) PQ =16 cm
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(i) {a,b} (i) {d,b,c} (iii) {d,c} (iv) {b,c,e} (v) {fae}

6. In the given figure, which of the following is true?
E D

B G
(i) ABED = ACDB (ii) ABDE = ABCD (iii) ABDE = ABDC (iv) ABED = ABCD (v) ABDE = ADBC



7. With the data in the given figure, AHIK = AHJK by which property?

H
K J

(i) SSS Congruency (ii) not congruent (iii) RHS Congruency (iv) SAS Congruency (v) ASA Congruency

8. With the data in the given figure, AOED = AOCB by which property?
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(i) RHS Congruency (ii) not congruent (iii) SAS Congruency (iv) SSS Congruency (v) ASA Congruency

9. With the given data in the figure, ADCF = AEBF by which property?
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(i) ASA Congruency (ii) SAS Congruency (iii) RHS Congruency (iv) SSS Congruency (v) not congruent

10. With the given data in the figure, ACDE = AFED by which property?

C F
D E

(i) RHS Congruency (ii) ASA Congruency (iii) not congruent (iv) SAS Congruency (v) SSS Congruency




11. With the given data in the figure, ARJK = AQK] by which property?
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J K

(i) ASA Congruency (ii) SSS Congruency (iii) RHS Congruency (iv) SAS Congruency (v) not congruent

12. With the data in the given figure, AEHO = AFGO by which property?
H G

E F

(i) SAS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) not congruent

13. With the data in the given figure, AADC = AABC by which property?
C

A

(i) ASA Congruency (ii) not congruent (iii)) RHS Congruency (iv) SAS Congruency (v) SSS Congruency

14. With the data in the given figure, AHCD = AGDC by which property?
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(i) SAS Congruency (ii) SSS Congruency (iii) RHS Congruency (iv) not congruent (v) ASA Congruency



15. With the data in the given figure, ASEF = ATFE by which property?
S T

E F

(i) SAS Congruency (ii) ASA Congruency (iii) not congruent (iv) RHS Congruency (v) SSS Congruency

16. In the given figure, AHFG is an isosceles triangle. El L FG passing through H. AEHF = AEHG by which property?
E

F I G

(i) ASA Congruency (ii) RHS Congruency (iii) not congruent (iv) SAS Congruency (v) SSS Congruency

17. In the given figure, JKLM is a square and ATJK is an equilateral triangle. ATM] = ATLK by which property?
M L

J K

(i) not congruent (ii) ASA Congruency (iii) SAS Congruency (iv) RHS Congruency (v) SSS Congruency



18. With the data in the given figure, ADEG = ADFH by which property?

D
G E F H

(i) not congruent (ii) SAS Congruency (iii) SSS Congruency (iv) ASA Congruency (v) RHS Congruency

19. With the data in the given figure, AEHF = AEHG by which property?
E

F G

(i) ASA Congruency (ii) not congruent (iii) SSS Congruency (iv) SAS Congruency (v) RHS Congruency

20. With the data in the given figure, AEGF = AFHE by which property?

D
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(i) RHS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) SSS Congruency (v) not congruent

21. With the data in the given figure, ACDG = ACEF by which property?
€
D E

(i) SAS Congruency (ii) not congruent (iii) ASA Congruency (iv) RHS Congruency (v) SSS Congruency




22. In the given figure, ADEF is an obtuse angled triangle. ADEG = AFEG by which property?
D

E F

(i) SSS Congruency (ii) not congruent (iii) SAS Congruency (iv) RHS Congruency (v) ASA Congruency

23. With the data in the given figure, ABOC = ABOD by which property?
B

c D

(i) SSS Congruency (ii) not congruent (iii) ASA Congruency (iv) SAS Congruency (v) RHS Congruency

24. With the data in the figure, AJMK = ALMK by which property?
J

K L

(i) SSS Congruency (ii) not congruent (iii) RHS Congruency (iv) ASA Congruency (v) SAS Congruency

25. With the data in the figure, AFIG = AFIH by which property?
F

(i) ASA Congruency (ii) not congruent (iii) SAS Congruency (iv) RHS Congruency (v) SSS Congruency



26. With the data in the figure, AEHF = AGHF by which property?
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(i) not congruent (ii) SSS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) SAS Congruency

27. With the data in the figure, ADEG = ADFG by which property?
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E F

(i) ASA Congruency (ii) SSS Congruency (iii) not congruent (iv) RHS Congruency (v) SAS Congruency

28. With the data in the figure, ABEC = ACDB by which property?
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(i) SSS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) RHS Congruency (v) not congruent

29. With the data in the figure, AEHF = AEHG by which property?
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(i) not congruent (ii) ASA Congruency (iii) SAS Congruency (iv) RHS Congruency (v) SSS Congruency



30. With the data in the figure, AHOI = AKOJ by which property?
K | J

H |

(i) SAS Congruency (ii) not congruent (iii) RHS Congruency (iv) ASA Congruency (v) SSS Congruency

31. With the data in the figure, AABD = ABAC by which property?
D C
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(i) SAS Congruency (ii) RHS Congruency (iii) not congruent (iv) ASA Congruency (v) SSS Congruency

32. With the data in the figure, AGl] = AIGH by which property?
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(i) SAS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) SSS Congruency (v) not congruent

33. With the data in the figure, AHKI = AHK] by which property?
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K J

(i) ASA Congruency (ii) not congruent (iii) SSS Congruency (iv) RHS Congruency (v) SAS Congruency

34. With the data in the figure, ABEC = ACDB by which property?
E D

X

m
#1]

(i) not congruent (ii) SSS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) SAS Congruency



35. With the data in the figure, AIO) = AKOL by which property?
L K

| ]
(i) ASA Congruency (ii) SSS Congruency (iii) RHS Congruency (iv) SAS Congruency (v) not congruent

36. With the data in the figure, AGOH = AIOJ by which property?
J |

€ H

(i) not congruent (ii) RHS Congruency (iii) SAS Congruency (iv) ASA Congruency (v) SSS Congruency

37. With the data in the figure, AJKM = AKJL by which property?
|

] K

(i) ASA Congruency (ii) SSS Congruency (iii) not congruent (iv) SAS Congruency (v) RHS Congruency

38. With the data in the figure, AGHJ = AKI) by which property?
G

H ] I

(i) SSS Congruency (ii) ASA Congruency (iii) not congruent (iv) RHS Congruency (v) SAS Congruency



39. With the data in the figure, AJKM = ALKM by which property?
J

K L

(i) SSS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) not congruent (v) SAS Congruency

40. With the data in the figure, ACDG = ADCH by which property?
F E

C D

(i) ASA Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) not congruent (v) SSS Congruency

41. With the data in the figure, ABDE = ABDC by which property?
E

C

(i) SSS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) RHS Congruency (v) not congruent

42. With the data in the figure, AFJI = AGJH by which property?
|

F G

(i) ASA Congruency (ii) SAS Congruency (iii) SSS Congruency (iv) not congruent (v) RHS Congruency



43. With the data in the figure, AMNQ = AMOR by which property?
R

M N

(i) not congruent (ii) RHS Congruency (iii) ASA Congruency (iv) SSS Congruency (v) SAS Congruency

44. With the data in the given figure, ANOQ = APOQ by which property?
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(i) RHS Congruency (ii) SSS Congruency (iii) not congruent (iv) ASA Congruency (v) SAS Congruency

45. With the data in the given figure, AMNP = ANMO by which property?
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(i) SSS Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) ASA Congruency (v) not congruent



46. With the data in the given figure, ALMO = ANOM by which property?
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(i) not congruent (ii) SSS Congruency (iii) RHS Congruency (iv) ASA Congruency (v) SAS Congruency

47. With the data in the given figure, ANOQ = APOQ by which property?
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(i) not congruent (ii) RHS Congruency (iii) SAS Congruency (iv) SSS Congruency (v) ASA Congruency

48. In the given figure, which pair of triangles are not congruent ?
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fig 3 fig 4
| Z\ >
| |
figl fig 2

(i) fig4 (i) fig2 (i) fig3 (iv) fig 1



49. In the given figure, which pair of triangles are not congruent ?

]l Oy | |
[T [T [ [
fig 3 fig 4
|
I I
figl fig 2

(i) figl (i) fig4 (iii) fig3 (iv) fig2

50. In the given figure, which pair of triangles are not congruent ?

fig 3 fig 4
Oy O | |
I I I [
figl fig 2

(i) fig3 (i) fig4 (i) fig2 (iv) fig 1



Assignment Key

1) (ii) 2) (iii) 3) (iv) 4) (ii) 5) (iv) 6) (v)
7) (iii) 8) (v) 9) (i) 10) (iv) 11) (iii) 12) (i)
13) (v) 14) (iii) 15) (i) 16) (iv) 17) (iii) 18) (iv)
19) (iii) 20) (i) 21) (iv) 22) (i) 23) (ii) 24) (ii)
25) (ii) 26) (i) 27) (iii) 28) (v) 29) (i) 30) (ii)
31) (iii) 32) (v) 33) (ii) 34) (i) 35) (v) 36) (i)
37) (iii) 38) (iii) 39) (iv) 40) (iv) 41) (v) 42) (iv)
43) (i) 44) (iii) 45) (v) 46) (i) 47) (i) 48) (i)
49) (iv) 50) (i)
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